English Literature- An Inspector Calls- Characters
GERALD CROFT
“Gerald Croft works at his father's company, Crofts Limited, which is both bigger and older than Birling & Co. He is engaged to be married to Sheila Birling. His parents, Sir George and Lady Croft, are above the Birlings (Mr Birling and Mrs Birling) socially, and it seems his mother disapproves of his engagement to Sheila. J. B.”- www.oxnotes.com
“an attractive chap about thirty, rather too manly to be a dandy very much the easy well-bred young-man-about-town”
-Aristocrat: Through the stage directions, Priestley hints he is an aristocrat as he is “well bred”. This is then confirmed as he is the son of Lord and Lady Croft. He is the Birlings’ social superior and Mr Birling makes this clear when he says “Lady Croft - while she doesn't object to my girl - feels you might have done better for yourself socially.” This creates unease between them but it also suggests that Mr Birling is very comfortable talking to Gerald. 
-Capitalist: In the first act Gerald shows that he has similar views to Mr Birling. He agrees with Birling’s speech about “increasing prosperity” and replies “You couldn’t have done anything else” after Birling reveals that he fired Eva Smith. Birling says that Gerald is “the kind of son in law I always wanted” which shows how Birling sees Gerald like himself- a determined man of business.
-Contrast to Eric: Gerald seems much more “manly” than Eric as he is presented as strong and confident, in general much more at ease than Eric who is “half-shy, half-assertive”. He is pleased with himself and relaxed, talking casually with Birling about port: “the governor prides himself on being a good judge of port” whilst Eric “suddenly guffaws” showing his awkwardness. There is much tension between Eric and Birling, shown through their differences in political views, Eric has more socialist views than his father and when he hears why his father sacked Eva, he supports the worker’s cause and says “Why shouldn’t they try for higher wages? ... I’d have let her stay”. On the other hand, Birling and Gerald have very capitalist views. Birling even confides in Gerald about his “chance of a knighthood”, rather than his own son. This perhaps suggests to the audience that Birling would prefer to have Gerald as a son, rather than Eric. 
[bookmark: _GoBack]-The audience is unsure whether he really loves Sheila: Priestley constantly makes reference to Gerald neglecting Sheila “all last summer” and although he claims he “was awfully busy at the works all that time”, Sheila’s “half serious, half playful” tone suggests that she doesn’t fully believe him. This makes us question the legitimacy of the love he appears to show to Sheila and makes the reader wonder the importance of what he did last summer. This builds tension and foreshadows Gerald’s part in the chain of events that led to Eva’s death. The fact he presents the “ring” in front of the Birlings makes us question the purpose of the ring: is it more about the merging of “Crofts and Birlings” that Birling talked about earlier, rather than his love for Sheila? Priestley confirms later in the play that Eva became his “mistress” and he has genuine feelings for her so it appears that perhaps he did not really love Sheila? Gerald’s affair with Daisy presents him as lying and deceitful. 
-Not willing to admit his guilt:  When he and Sheila talk privately about his affair with Daisy Renton, Gerald doesn’t want the Inspector to find out and tells her “we can keep it from him”. The Inspector then asks him “when did you first get to know” Daisy Renton and Gerald replies “Where did you get the idea that I did know her”- even after Sheila told Gerald that the Inspector would know what happened, he wants to try and hide what he did. His main aim is to protect himself. 
-Has some genuine feelings for Eva/Daisy: After the Inspector speaks to him, he says “I’m rather more – upset – by this business than I probably appear to be-” – notice Priestley’s use of dashes to show his genuine emotions. Gerald has been hiding his feelings, like an English gentleman but deep down he is truly saddened by Daisy’s suicide. The Inspector isn’t as harsh on him as he is on Mr and Mrs Birling – he notes that at least Gerald “had some affection for her and made her happy for a time.”
-Doesn’t change: Rather than changing at the end, Gerald wants to protect himself. This is the presented through his determination to confirm Inspector Goole wasn’t a real police officer as he “met a police sergeant” and “asked him about this Inspector Goole”. Priestley creates a sense of self-satisfaction in Gerald when he syas “Everything’s all right now Sheila. (Holds up the ring.) What about this ring”- this shows that everything that has happened hasn’t affect him nor changed his opinions on anything. He clearly doesn’t feel overly remorseful about cheating on Sheila with Daisy. This is contrasted to Sheila who turns down the ring, saying “it’s too soon. I must think” which highlights the difference between those who have changed and those who haven’t. Because he hasn’t changed, Gerald is linked to the older generation which is also presented through his capitalist nature. 
Response to Eva’s suicide:
-Lies to Sheila about even knowing a Daisy Renton. Continues to do this with the Inspector: “Where did you get the idea that I did know her?”
-Cowardly – tries to convince Sheila not to say anything to the Inspector: “We can keep it from him.”
-It seems he did have some genuine feelings for Daisy: when he first saw her he rescued her from Alderman Meggarty; seeing she was hungry he arranged for the hotel to get her some food; he put her in his friend’s rooms because “she hadn’t a penny and was going to be turned out of the miserable back room she had”; he did not “install her there so that [he] could make love to her”; he felt “sorry for her and didn’t like the idea of her going back to the Palace Bar”.
-He is very moved and quite emotional when he realises she is dead: “My God!...I’ve just suddenly realised- taken it in properly – that she’s dead –”
-He feels immensely guilty about the fact that she felt more for him than he did for her – he used her? Guilty especially as she told him “she’d been happier than she’d ever been before”
-He is genuinely upset about it all: tells Inspector Goole “I’m rather more – upset – by this business than I probably appear to be ... I’d like to be alone for a while.”
Priestley’s message:
-Represents the selfish attitudes of the upper class
-Shows how difficult it was to change the views of the upper class


